
Check	
  your	
  1-­‐week-­‐memory	
  (11)	
  

1. An	
  attribute	
  grammar	
  is	
  a	
  triple	
  AG	
  =	
  (	
  	
  ,	
  ,	
  );	
  the	
  components	
  are	
  
___________________________	
  	
  
___________________________	
  
___________________________	
  
	
  

2. An	
  Attribute	
  X.a	
  is	
  synthesized,	
  if	
  …	
  
______________________________	
  
	
  
An	
  Attribute	
  X.b	
  is	
  inherited,	
  if	
  …	
  
______________________________	
  
	
  

3. Assume	
  an	
  attribute	
  grammar	
  ag	
  is	
  complete	
  and	
  consistent.	
  
Characterize	
  a	
  change,	
  which	
  makes	
  it	
  incomplete:	
  
__________________________________________________	
  	
  
	
  
Characterize	
  a	
  change,	
  which	
  makes	
  it	
  inconsistent:	
  
__________________________________________________	
  	
  
	
  


